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The contents of this report reflect the views of the authors, who are responsible 
for the facts and the accuracy of the data presented herein.  The contents do not 
necessarily reflect the official views or policies of the Federal Highway Administration or 
the Texas Department of Transportation.  This report does not constitute a standard, 
specification, or regulation. 
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machine, manufacture, design or composition of matter, or any new and useful 
improvement thereof, or any variety of plant, which is or may be patentable under the 
patent laws of the United States of America or any foreign country. 
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